s S £8425E 258 UEde Aol &2 A2?

72 -7 234 — 4
® 2.05 900 @ 1.234 590
456



A=}
SRl

1 1
(-2x% 4+ 3x) + §x+ (4x3 — 5x%) + (—§x2>

O] F22(HE, x#0)



mj

<

i
0w |

1?&

<
il

u-

op

TH a4+ b 9 ZH2?

5

%7k a bt

3 27 @ 30 ® 33

@ 22

12



Al (4a+b—1) = (-a+ 3b - 4) & 7FH3] PH?

@ 3a+4b-5 @ 3a+2b-3 ® 5a-2b-3

@ 5a+2b+3 G 5a—2b+3



5.

the 1B F o)A BE B A QAR

@ 4x? - 5x
© x(4x—4)+2-4x?
1
© xj—x
® (2-4x+3x%) -2(x* —4x+1)

g tan) - (1o o)
S pdx—1) - (-1-dx-=
@<2x—|—x X 3x

@ 174 @ 274 @ 37 @ 4 7

® 574




A715 9] B+ 100ra?b3cm? 0] 11, YH-E2 2] 52| Zo|7} 10abem
ol Yojt}, o] Y759 Fol|=?

B3] :100ra*b’cm?

- =<
N

" 10abcm—s,

N~

@ 2bcm @ 4bcm ® 6bcm

@ 8bcm ® 10bcm



x7} 10]4 500151 AiZedd wf, = 7} Satade2 vpehfjo] Aty

St old, x 9] gtol € & Qe v BT B IVE?

@ 174 @ 271 @ 374 @ 474 ® 574



O 7 A2 THEske @34 A, B o tiste] 4% 27

AxB:36a3b4,%:4a

® 144ab @ 144a%b? B 144a3b3

@ 144a*b* ® 1444°b°



9. 3794 AR O =ATE, 3 o Ao A o A3 L of, 817+
o] Ao 2] of =AE FoHH? (B x y © x>y A

@1 @ 3 ®9 @ 7 ® 2



10. 23+ 1)+D)B* 4+ 1)+ 1) =3*+bLd W, AT a, b Fa+b
o] k27

® 15 @ 16 ® -15 @ -16 ® 9






=4 m% Eatasl q'E]'LH%{% [LH, Xn = izl\—@ O}EH n ]?jZZH T
iR, The ol A9 ghe

X1+ x3+ x5 +x7 4+ X9+ -+ x25
@® 72 @ 74 ® 76 @ 78 ® 80

i



13. ©e 5 S ALY

oo
Mo

=
K

@ 5x2¢=320 ¢ o, a=5 oIt
@ 32x5>=225 4w, p=3ol}
® 7x3 =189 & W, c =3 ot}
@ 29x5%2=100 4 o, d =3 ot}

® 22x3° =108 ¥ W, e =2 o]t}



14. 9= F 7 2 +e?

@ 2% @ 3% ® 415 @ 510 ® 9



15. o= 4] gh= 7shi?

x%yz — 2xy + xy%z

xyz

1
o= o
(v =

DN | =

Lo =




